Beta Test

Yitong



Update

 Very high_nr value in the workspace output > the order of source
was changed in my workspace

* Log scan:

* No constraint function in fit model, but still has a constraint function in data
generation model, 0%, 20%, 100% on mu_beta



uncond.mu_beta {Toy Type==0}

mp

)
10 Eninas
Meaan

Sid Dav

1

450

uncond.mu_bata

0%, no cst in fit model

uncond.mu_beta {ToyType==0}

328y
28.59

hiamp

a
10
Maan

260

280 300

320 340 360 380

Eninas

Std Dav

400

uncond.mu_beta

0%

TH000 |

305

24.61

10

uncond.mu_beta {ToyType==0}

350 400 450 500

Tamp
? Eninas 15000 |
- Maan 416.9
ol Std Dav 2991

550

uncond.mu_beta

20%, no cst in fit model

uncond.mu_beta {ToyType==0}

hlamp

T
340.4

24.83

uncond.mu_bata

uncond.mu_beta {ToyType==0}

a mp
10 E° Ertmes 1
C Maan 5848
- |Std Dav__32.99

L | |||||q

10

650

700
uncond.mu_beta

100%, no cst in fit model

600

uncond.mu_beta {ToyType==0}

\
10 Enlnas

Maan

10°

10

320 340 360 380

amp
1
434 .4
249

Stid Dav

400 420 440 460 480 500 520 540

uncond.mu_beata

100%



No cst in fit model

With initial
fit in LZStats

No initial fit
in LZStats
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beta test

* Data generated model: with the beta fluctuation

* Fitting model: the default beta model
* Fluctuations: 5% (~8), 10% (~17), 15% (~25), 20% (~33) on original
mu_beta ~167, a_beta & constraint function

* 40GeV, 60d

* H#toys: 1500
 nPOI =15

* Calculator type =9

* For each case: low failed toys; ~ 7; ~12h running time
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% Laon |1z | 3% lo |96 % 1% 0%
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wncard mu_sig {TayType=-0) uncand mu_pp | TayType==0) wicodmmu_wEB {TayType—() wncard mu_sg {TayType==0) — uncand smu_pp {TayType==0] uncandmu_wEBB {TayType==0]

Constraint in data generation model Constraint in both data generation
No Constraint in fit model model & fit model



To do

* Higher fluctuation, ~100% increase in mu_beta
* Constraint function



